0.26% CH4, 0.09% C2H6, 1. 65% O,, 98 0% Ar CID 0.5, p = 1 0 atm

P—
]
]
o

Ignition delay time (T) / us

100

0.15% CH4, 0.15% C2H6, 1. 69% 02, 98. O% Ar D= O S5,p=

1000

Ignition delay time (T) / us

100

Aramco Mech 1. 3
Aramco Mech 2.0 ——

6.20 6.40

6.60

6.80
10°K/T

7.00

7.20 740

7.60

7.

80

Aramco Mech 1.3 -
Aramco Mech 2.0 ——

640 6.60 6.80

7.00

7.20
10K/ T

7.40

7.60

7.80

8.00



0.12% CH4, 0.36% C2H6, 1. 52% 02, 98 0% Ar, CI>— 1 O p= 1 0 atm

1000 F Aramco Mech 1.3 -
Aramco Mech 2.0 ——

100

Ignition delay time (T) / us

580 6.00 620 6.40

6.60 6.80

10*K/T

7.00

7.20

7.40

7.60

O67%CH4,133%02,980%Ar dD—lOp—lOatm

Aramco Mech 1. 3
Aramco Mech 2.0 ——

1000

Ignition delay time (T) / us

100

4.40 4.60 4.80

5.00

5.20
10K/ T

5.40

5.60

5.80

6.00



5.56% CH,, 1.85% C2H6, 17 59% 02, 75. 0% Ar, CI> = 1.0, p=1.0 atm

Aramco Mech 1.3 - .
Aramco Mech 2.0 ——

1000 f

Ignition delay time (T) / us

100 f

6.40 6.60 6.80 7.00 7.20 7.40 7.60
10°K/T

3.33% CH4, 3.33% C2H6, 18.33% 02, 75. O% Ar, ¢ = 1 0,p=1.0atm

1000 | Aramco Mech 1.3 - B
Aramco Mech 2.0 —— T

100

Ignition delay time (T) / us

6.80 7.00 7.20 7.40 7.60 7.80 3.00
10K/ T



0.86% CH,, 2.59% C2H6, 21 55% O,, 75 0% Ar, CI> 0.5,p= 1 0 atm

Aramco Mech 1.3 -
L Aramco Mech 2.0 ——

Ignition delay time (T) / us

100

7.40 7.60 7.80 8.00 8.20
10°K/ T

SO%CH4,200%02,750%Ar P = 05 p—lOatm

Aramco Mech 1.3 -
1000 | Aramco Mech 2.0 —— A

Ignition delay time (T) / us

5.60 5.80 6.00 6.20 6.40
10K/ T



Ignition delay time (T) / us

Ignition delay time (T) / us

556%C2H6, 1944%02,750%Ar CID—lOp—lOatm

Aramco Mech 1.3 - [ |
1000 F Aramco Mech 2.0 —— ]

100

6.80 7.00 7.20 7.40 7.60 7.80 8.00 8.20
10°K/T

3.13% C2H6,21 88% 02,75 O%Ar P = 05 p—lOatm

Aramco Mech 1.3 -
Aramco Mech 2.0 ——

1000

100

720 740 760 780 800 820 840
10K/ T



1.11% CH4, 0.37% C2H6, 3. 52% 02, 95 O% Ar, CI>— 1.0, p— 10.0 atm

Aramco Mech 1.3 -
Aramco Mech 2.0 —— u

[a—
-
]
(=)
1

Ignition delay time (T) / us

100F m -

6.60 6.80 7.00 7.20 7.40 7.60 7.80 8.00
10°K/T

0.67% CH4, 0.67% C2H6, 3.67% Oz, 95. O% Ar, CI> =1. O p =10.0 atm

Aramco Mech 1.3 - [ |
Aramco Mech 2.0 ——

1000

Ignition delay time (T) / us

100 E L 1 1 L 1 L L |
7.20 7.40 7.60 7.80 8.00 8.20 8.40 8.60

10°K/T




0.17% CH4,052% C2H6,431% 02, 95 O% Ar, CI) 0.5, p— 10.0 atm

Aramco Mech 1.3 -
Aramco Mech 2.0 ——

p—
-
o
o
]

Ignition delay time (T) / us

8.00 8.10 8.20 8.30 8.40 8.50 8.60 8.70
10°K/T

0.67% CHy, 0.67% C2H6, 3.67% Oz, 95. O% Ar,®=1.0,p= 30 0 atm

Aramco Mech 1.3 - .
Aramco Mech 2.0 ——

1000 f

Ignition delay time (T) / us

100

7.40 7.60 7.80 3.00 8.20 8.40
10K/ T



0.49% CH4, 1.46% C2H6, 3. 05% 0,, 95. O% Ar, ® = 2 0, p =10.0 atm

Ignition delay time (T) / us

Ignition delay time (T) / us

1000 f

—
-
-
o

100

Aramco Mech l 3 -
Aramco Mech 2.0 —— [ |

7.20 7.40 7.60 7.80 8.00 8.20
10°K/T

25%CH4,25%02,950%Ar P=20,p= 300atm

Aramco Mech 1.3 -
Aramco Mech 2.0 ——

5.60 5.80 6.00 6.20 6.40 6.60 6.80
10K/ T



5.14% CHy, 1.71% C2H6, 8. 14% 0,, 85. O% Ar, P =2. O p =30.0 atm

Aramco Mech 1.3 - [}
1000 F Aramco Mech 2.0 —— . -

Ignition delay time (T) / us

100

6.50 7.00 7.50 8.00 8.50
10°K/T

3.16% CHy, 3.16% C2H6, 8. 68% 0,, 85. O% Ar, ® =2.0, p =10.0 atm

Aramco Mech 1.3 - [ |
Aramco Mech 2.0 —— >

1000

Ignition delay time (T) / us

100

7.50 8.00 8.50 9.00
10K/ T



0.91% CH4, 2.73% C2H6, 11. 36% 0,, 85 0% Ar P=1 O p= 30 0 atm

Aramco Mech 1.3 -
. Aramco Mech 2.0 ——

Ignition delay time (T) / us

100

©7.90 8.00 8.10 8.20 8.30 8.40 8.50 8.60
10K/ T

SO%CH4, 100%02,850%Ar (I>—10p—100atm

Aramco Mech 1. 3
Aramco Mech 2.0 ——

1000 |

Ignition delay time (T) / us

100

580 600 620 640 660 680 7.00 720 7.40
10K/ T



—
S
S
(=

Ignition delay time (T) / us

100

3.33% C2H6, 11 67% 02, 85.0% Ar P =1.0, p— lOOatm

Aramco Mech 1.3 -
Aramco Mech 2.0 —— .

7.80 8.00 8.20 8.40 8.60 8.80 9.00 9.20
10°K/T

1.88% C2H6, 13. 13% 0,, 85. O% Ar, (ID 0.5 p = 10. O atm

Ignition delay time (T) / us

L Aramco Mech 2.0 ——

k.

-

o
L)

Aramco Mech 1 3 -

770 780 790 800 810 820 830
10*K/ T



